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Xo Xi ANi(K)=
[ Xo(KD—Xi(K)| Gi= 1,2 375 k=1, 2 3-+--6).
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K 1 2 3 4 5 6 7 8 9
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A“3(1() 00106 0.0643 00760 0.0108 0.0000 00148 0044 00111 05000
/\4(1() 00271 02714 01846 0078 0.2000 0.02¢ 0. 1556 0.044 00000
Ls(k) 00451 01000 00615 001 0000 0041 0 1111 01111 00000
26k) 02320 0250 00000 01077 01000 0384 0022 01333 0000
A7(k) 0250 028 02302 0346 0100 0459 01111 022 0250
3 , minimink 2N (k)= 0. 0000; maximaxk
Ai(k)=0. 5000 =05 ei(k)
0+ 0 5< 0. 5000 3
i(k)+0 5<0.5000
Xo Xi ei(k), 4,
4
K 1 2 3 4 5 6 7 8 9
€] 05875 07232 0803 0821 07576 03617 06164 055% 03333
€2 06748 0.7143 0.8 0940 0783 0681 0 784 0600 010000
g 09593 0794 07648 098 1.000 0941 0&2 0975 03333
& 0902 0479 05752 0793 0.4902 08¥8 0. 6164 0.8492 1.0000
€5 08472 0.7143 082 095367 0783 08501 0603 06023 10000
€6 0518 05000 10000 06 0743 0393 091% 0652 1.0000
&7 05000 0524 0520 03939 0650 0352 06164 0529 0500
03000 01300 00900 0.0000 0.0000 0090 0.000 00900 0.090
2.4
f i
1 . 1 .
N fei(K), ri= N £i(K),
K=1 K=1
s 5.
5
(K> X1 X2 X3 X4 X5 X6 X7
0.6320 0.7704 0. 8402 0.7319 0. 8130 0.7109 0.5067
6 3 1 4 2 5 7
0.6156 0.7410 0. 8551 0.7034 0. 8135 0.6623 0. 5059
6 3 1 4 2 5 7
’
’ o 5
) I3—
0. 8402, s
b o
, 15=0. 8130 2 .
b 9
s 2 . .
b b
b .
9
b b b
9 o

25C~307C, 7C~10%C,
1 300m?
16000 ~ 17000 .
3~4
, 15896 12765 .
. 21580
, 17660 .
2 .
3 ’
. . , . 12
2 .2
6 b b b o 5
, 7 .9 .
’ © 8
. 9 , 10
. 11 . , .
3~4 .
1 ’
2.3 )

C, 130) 21



